
Lec 19

Recall the eigenver equation
Ax=18 - +8
e-vec e-val

# More eigen theorems
Then: let Ander have

if i is lineor comboevals 1,,. .., Ak won corresponding e-vecs v. .., ViK.

X= C.V, t... + CIVK
then

Am (Go. +:= + CIVK) = C, AMu, + ...
C. AM, + ...

#Computation applications- huge power of matrick

Consider: A= [331 wa 1,52, v.= (11: 16=4, vs= (iT
' What if we want to find A so?

=3417-1201
=

PE

[259+229
259-229



# Eigent and L.T.

Consider TiRe R' via x4 [34)x, Ta via x= (33 ]x

1: eigenves
**: eigenvals

Consider,
71-27

A= -3 3 6
2 2 2.

WIs 1=6 is a e-val -> show det (A -6I) =0
WTF all corresponding e-vecs-> selve (A -6I)7=6for non-zero §4 x=

Notice: I-6 is double rost, and corresponding eigenues has a free wats
I algebraic mulipticity is the mun of thies i appear as nost

[:].
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